May 10, 2006
NATIONAL

SPTRONICS

11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly

Procedure

Contents of Kit

Electric Chuck

Clamp Arm Assembly, Stabilizer
Alignment Fixture Version (P/N 90537)
(P/N 87223)
6" Lg Black
Long Arm 9/64- Wire Tie (P/N
inch Hex 70091)
Wrench (P/N
87496)

Not Shown in Picture
Four (4) Ys-inch Lockwashers

Four (4) /420 x 5/8-inch Stainless Steel Sockethead Capscrews

There may be a UPS ARS tag (not shown in picture) included as well. If so, you will use this tag to ship the old
Electric Chuck Assembly back to National Optronics.

NOTE

The procedure is the same for any 6E edger and for 7E edgers with an Electric Chuck. (Refer
to “11190934 7E-7EA -- Replacement of the Pneumatic Clamp Assembly” for directions to
replacing a pneumatic chucking system.)

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 1 of 10



Removing the Old Electric Chuck Assembly

1. Turn off the power switch on the edger.

2. Using a 3/32-inch hex wrench, remove the #8-32 screws holding the motor cover in place.
NOTE: Depending on the age of the machine, there may be 3 or 4 screws—remove all of them.

o

3. Remove the motor cover.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 2 of 10



4. Clip the Wire Tie on the Axis Servo Motor as shown below:

Unplug the
Chuck Motor
here in Step 5.

5. Unplug the Chuck Motor.

6. Using a 3/16-inch ball driver or a 3/16-inch hex wrench, remove the four (4) 4-20 screws holding the
electric chuck assembly in place. NOTE: Depending on the age of the machine, there may be a rectangular

block under one of the screws—if so, remove it as well.

‘' 7 L. = >

¥y

Remove the back two screws
before removing the front
two. Then support it with
your hand to prevent it from
tipping over suddenly and
potentially damaging the
probe C-body.

7. Discard the screws (and the block if it had one) that you removed in the previous step.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National

Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf

Page 3 of 10



8. While ensuring that you do not damage the probe C-body, carefully lift the old Electric Chuck Assembly
out, as shown below:

R N
D _ & .

9. Remove the Right Side Clamp from the old Electric Chuck Assembly and set it aside to be attached to the
new Electric Chuck Assembly. Also, save the old Electric Chuck Assembly to be returned to National
Optronics.

Remove the
Right Side
Clamp and set it
aside for later
use.

10. Using a 3/32-inch hex driver, loosen the set screw and remove the Replaceable Chuck from the unit as
shown below:

Note the orientation of the
set screw: If it is facing the
front, as shown here, you
will reinstall it that way on
Page 9.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 4 of 10



Installing the New Electric Chuck Assembly, Stabilizer Version (P/N 90537)

1. Remove the contents of the Kit, setting the box aside for reuse when shipping the old Electric Chuck
Assembly back to National Optronics.

2. Disassemble the Stiffener Plate, the Clamp Arm, and the rubber washers from the Electric Chuck Assembly:

A. Using a 3/16-inch hex driver (the one on the hex cluster from the edger’s Accessory Kit will work),
remove the two (2) 7-20 sockethead capscrews securing the Stiffener Plate and set them aside for
reinstallation.

B. Pull the Stiffener Plate off; you may have to wiggle it a little to get it to release.

O

Rotate the Manual Release Wheel 1-2 turns counter-clockwise (in the direction of “Close”).

D. Using a 1/8-inch hex driver, remove the %4 x 5/8-inch stainless steel shoulder bolt and set it aside for
reinstallation.

E. Slide the Clamp Arm off and set it aside.

F. Remove the two rubber washers and set them aside.

Manual
Release
Rubber Washers Wheel
Shoulder
Screw
Stiffener
Clamp Arm Plate

3. Using the Long Arm 9/64-inch Hex Wrench (P/N 87496) that comes with the kit or a 9/64-inch hex driver,
loosen the three screws that position the Thrust Cap on the new Electric Chuck Assembly as shown below:

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 5 of 10



4. Using the four screws and lockwashers supplied with the kit, position the four screws and lockwashers in
the slots as shown below:

5. Place the Electric Chuck Assembly in the area where it will go but do not screw it into place yet.

6. Hold the Electric Chuck Assembly in place with one hand while placing the Clamp Arm Alignment Fixture
on the two Electric Chuck Shafts and the Axis Gear Box Shatft.

7. Slide Clamp Arm Alignment Fixture down far enough to determine if the Locating Pin is aligned with the
slots on the Clamp Arm Alignment Fixture.

8. Rotate the Axis Gear Box Shaft, if needed, to align the Locating Pin with the slots on the Clamp Arm
Alignment Fixture, as shown below:

Rotate the Axis Gear Box
Shaft by turning the shaft
coupling.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 6 of 10



9. Push the Clamp Arm Alignment Fixture on the Electric Chuck Shafts and the Axis Gear Box Shaft as far as
it will go, until it bottoms out on the Locating Pin:

10. Push the Electric Chuck Assembly to the right as far as it will go so that the edges of the left mounting
screws are against the left edges of their slots. (This will cause the Clamp Arm Alignment Fixture to be
retracted slightly on the Axis Gearbox Shatft.)

11. Using a 3/16-inch ball driver or hex driver (a long ball driver works better), firmly tighten two of the new
74-20 x 5/8-inch stainless steel sockethead capscrews and -inch lockwashers on the left side of the Electric
Chuck as shown below:

Location of the first two V-
20 x 5/8-inch stainless steel
sockethead capscrews

12. Slide the Clamp Arm Alignment Fixture out far enough to access the other two screw holes on the mounting
plate.

If the Alignment Fixture does
not slide with the force of your
hands, pry gently with a
screwdriver resting against the
lead screw.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 7 of 10



13.

14.

15.

16.
17.

18.

Using a 3/16-inch ball driver or hex driver (a long ball driver works better), firmly tighten the other two of
the new 4-20 x 5/8-inch stainless steel sockethead capscrews and 74-inch lockwashers in the location shown
in the picture below:

DN 1N A -~
Using the Long Arm 9/64-inch Hex Wrench (P/N 87496) that came with the kit, first snug down, but do not
tighten completely, each of the three screws on the thrust cap, accessing two of the screws above the Clamp
Arm Alignment Fixture and from one underneath it) as shown in the picture below. Then go back and
tighten each screw completely, placing equal pressure on each.

Slide the Clamp Arm Alignment Fixture the rest of the way off. It will probably come off with the force of
your hands, but if it does not come off in that manner, use a long screwdriver to pry very gently against the
lead screw. You may need to place a piece of foam or rubber against the lead screw to do this.

Double-check the four ¥4-20 x 5/8-inch stainless steel sockethead capscrews to ensure that they are tight.

Slide the two rubber washers back on the two Electric Chuck Shafts (the rubber washers you removed in
Step F on Page 5).

Slide the Clamp Arm back in place. NOTE: You will probably need to manually rotate the silver cylinder
on the left side of the Electric Chuck to turn the lead screw until the hole in the lead screw is facing upward
so that you can align it with the hole in the Clamp Arm.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 8 of 10



19. Using a 1/8-inch ball driver or hex wrench, reinstall the 4 x 5/8-inch stainless steel shoulder bolt you
removed in Step D on Page 5.

20. Reattach the Right Side Clamp.

21. Align the slots in the Replaceable Chuck with the Locating Pin on the Axis Gearbox Shaft and then slide the
Replaceable Chuck on the shaft as far as it will go. Make sure that the Replaceable Chuck slides to the left
until the Locating Pin is fully seated in the slot.

22. Use a 3/32-inch hex driver to tighten the Replaceable Chuck’s set screw onto Axis Gearbox Shaft as shown
below:

Note the orientation of the
set screw: Reinstall it the
same way you removed it in
Step 10, Page 4.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 9 of 10



23. Using a 3/16-inch hex driver (the one on the hex cluster from the edger’s Accessory Kit will work),
reattach the two (2) %4-20 sockethead capscrews securing the Stiffener Plate (the ones you removed and set
aside in Step A on Page 9).

24. Plug the new Electric Chuck Assembly into the power source (where you unplugged the old Electric Chuck
Assembly in Step 5 on Page 3).

25. Use the Wire Tie supplied with this kit to secure the power cable to the Servo Motor (the same place where
you removed the Wire Tie in Step 4 on Page 3).

26. Replace the motor cover. NOTE: Depending on the age of the machine, there may be an unused hole in the
motor cover (at the location where the rectangular block was removed).

27. Place the old Electric Chuck Assembly in the box that held the new Electric Chuck Assembly (Stabilizer
Version).

28. If a UPS ARS tag was supplied with the kit, follow the directions from UPS for applying the UPS ARS tag
and shipping the box back to National Optronics.

Copyright © 2006 National Optronics. All rights reserved. This document and the hardware or software described herein are exclusively for the use of National
Optronics’ customers and authorized sales and service personnel.

F:\Procedure Documents\Customer Procedures\11190376 6E-6ES-7E -- Replacement of the Electric Chuck Assembly.pdf
Page 10 of 10




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


